11| usuario

=

bigint

[T dtype

m administrador
mj authtoken

ﬁfﬂ celular

mj email

[77] facebook

Eti) imagem

[ nome

rm senha

[Iﬂ telefone

[l cep

[ cidade

eti) cpfresposavel
mj estado

mj logradouro
] numero

B responsavel
Et) tipo

varchar(31)
boolean
varchan(255)
varchan(255)
varchan(255)
varchian(255)
varchan(255)
varchan(255)
varchan(255)
varchan(255)
varchan(255)
varchan(255)
varchan(255)
varchan(255)
varchan(255)
varchan(255)
varchan(255)
varchan(255)

usuariodenuriciante_id:id

'}ﬁl animal_id

[ imagens

F T

P

{1l animal

m castrado
[ cor

Em descricao
[ nome

[ porte

{1 raca

[11] sexo

[T tipo

[m vacinado
?:ﬂ usuario_id

animal_id:id

£ animal_imagens

bigint
varchan(255)

[l denuncia

TEE- id bigint
‘?,jj anunciodenunciado_id bigint
}Tﬂ usuariodenunciante_id bigint

ustrarioid-ic

bigint
boolean
varchar(255)
varchar(255)
varchar(255)
varchar(255)
varchar(255)
varchar(255)
varchar(255)

boolean

bigint

@ anuncio

Taid bigint
mdtype varchan31)
m ativo boolean
Eﬂj cidade varchar(255)
ITG datapublicacao timestamp
Em estado varchar(255)
Djj lat double precision
Eii) Ing double precision
B resgatado boolean
?j animal_id bigint

e ] anuncio_imagens

m anuncio_id bigint
mj imagens varchar(255)

[11] metamensal [ itemmeta
Taid bigint T.id bigint
ano integer resso ouble precision
m g [l prog double p
m mes integer m quantidade integen
ust q _id-iProd double precision i tipo varchar(255)
] prestador_id bigint [71] unidade varchar(255)
L 4

metamenal_id:id  itens]id:id

[ mensagem

T, id bigint {11l metamensal_itemmeta

[11] datapergunta timestamp ) metamensal_id bigint
Em texto varchar(255) bigint
%] usuariopergunta_id bigint

A

A

mensagens_id:id mensaggm_id:id

-

[ anuncio_mensagem

ﬁ anuncio_id

7. mensagens_id

bigint
bigint

-

[ mensagem_respostas
;m mensagem_id bigint

mj respostas varchan(255)




